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Explain five sources of secondary data, (10 marks)

A study on the number of years of education among workers in an organization revealed
the following:

Years of education Number of workers

-2 3

2-4 4

4-6 4

6-8 6

5-10 2

10 - 12 1
Determine the:

{1} standard deviation;
{ii)  wvariance;
{iii) coecfficient of varation.

(10 miarks)
The following information relaies to Tepe Limited for the year 2020.
Numberof Employees

Depariment Grade A Grade B Grade C

Finance 20 10 &

Marketing 16 8 6

Production 14 8 4
Present the information above, in ajcomponent banchart. {12 marks)

The reception of an office has two computers; A and B. The probability of computer A
failing is (.13 and the probability of computer B failing is 0.25. Determine the
probability that:

(i) bkoth computers are working;
{ii)  both computers are not working:
(iii)  only one computer is working;

{iv) ot least one computer is working.
(% marks)
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a7 (a) Explain five advantages of using simple random sampling in the collection of data,
(10 marks)

(b}  The following data relates to the monthly income and electricity consumption by ten
familics randomly selected from sn urban centre.

Monthly Income Monthly Electricity

(Ksh. MW's) Consumption (kWh)
14 GE0
23 1030

g 400
17 790
10 810
22 950
3 310
12 T2
6 450
16 930

(i) mmﬂwwm between the monthly income and
monthly electricity COnSUMPHon.

(i)  Interpret the result in4f) above. (10 marks}
4, (8] Explain the meaning of each of the following terms as used in probability tl:re-ury:

(1) mutually exclusive evenis:

{11} independent events:

(iit]  collectively exhaustive avents:

{iv)  complimentary events,
(8 marks)
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() The following data shows the profits made by a company for a period of 10 years.

Year Sales (Ksh. millions)
2005 40
20006 35
2067 ol
2008 B
20089 70
Z01D 75
2011 o0
2012 110
2013 105
2014 130
2020 300
{1} Using the method of w, determine the trendline equalion.
(i)  Using the result in (i) above, determine the profit the company will make in the
year 2015,
(12 marks)
. D -
S (a)  Explam five factors that may be cnnsjg{é%d in determining the sample size during data
collection. @Q) {10 marks)

S
(b)  Cheche Limited intends to inwEet Ksh. 2,500,000 in either project X or project Y. The
following is the expected net cash inflows from the projects,

Expected Net Cash Inflows
, Project X ctY
bl ﬂésh.} P“(éshh 3
I BOO 000 GO0 000
2 400,000 1200 000
3 00,000 800,000
4 400 000 200 000
E 100,000 :
f 400 000 :

(1) Dietermine the payment period of each project.

(iiy  Based on the results in (i) above, advise the management on the project to invest

in.
{ 10 marks)
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B, (a)  The following is the distribution of marks scored by students in a test.

Marks Number of students
46
X
h 4
25
10

]
200

L I A =

The arithmetic mean of the distribution 1s 1.46.
Determine the:

i) vitlues of x and y;

(1) mode:

(iii)  median.
(11 marks)

{b}  The ume it takes an intematiﬂnaliﬁlil&phﬂne operator to place an overscas phone call is
normally distnbuted with a medr’'of 45 seconds and a standard deviation of 10 sccomds.

Determine the probability@hat:
{i) a call will go through in less than one minute;,
(i) acall will go through in less than 40 seconds:

(iif)  acaller will have to wait for more than 40 seconds for his call to go through.
(9 marks)

o= (a) Distingish between each of the following terms as used in financial Mathematics.
(i) perpetulty and annuity;

(i) discounting and compounding.
(8 marks)
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(b}  The following information shows the marks scored by cight job applicants in
communication and statistics examinations,

Job Applicant :lA |B |C |D E |F |G |H
Communication ¢ : |15 |24 (28 (12 |40 |60 [20 |80
Statistics ¥ 140 (35 (50 (30 |20 10 |32 |60

{1) Determine Spearman's rank coefficient of correlation,

{i1) Interpret the re;_s_*u_lt;_iﬁi} above.
(12 marks)
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Partial areas under the

standardized normal curve

i |
g=3T3 0 1 T 3 4 5 5 T B )
@

0.0 0.0000 | 0.0040 | 0.0080 |0.0170 0.0155 | 0.0199 | 0.0239] 6.0273 0.0319 | 00055
0.1 "0.0338 | 0.0438 |0.0478 [0.0517) L055T 0.0556 | 0.0636| 00878 0.0714 | 00753
0.2 0.0793 | 0.0832 |0.0671 |a.0910( 0.0928 0.0987 0.1026| 0.1064 | 0.1103 | 01141
0.3 | B11734 01217 10,1255 10,1293 0.1331 | 0.1388 | 0. Lang 0.1443 ) 8.14%0 | 01517
0.4 01354 | 0.1891 101628 |0.1664 | 0.1700] 01738 O.L772) 01808 [ 61844 | o 1479
o5 0.1915] 0.1950 [0.1985 |0.2019| 0.205¢ | 0,208 02123} 0.2157 | 0.2190 | 0.2924
0.5 0.2257] 0.2291: {0, 2374 0.23571 0.2339 1 0.2422 | 0.2454) 67486 [0.2517 0.2549
0.7 0.2580| 0.26110 ' 0.2823 | 0.2252
0.8 0.z881 | 0.2910 0.3078 | 0.3106 | 63132
0.3 1 0.3159] 0.3185 0.3365 [ 0.3380
1.0 0.3413] 0.3428 0.3593 | 0.36m1
L1 03643 | 0.3885 0.3310 | 03830
1.2 03849 | 0.3869 0.3997 | 04018
1.1 04032 04049 0.4152 | 04177
14 0.4192| 0.4207 0.4308 { D413
15 04332 4345 0.4430 | 04441
1.6 0.4452] 0.4463 0.4535 | oLasd4s
1.7, 0.4554 | 0.4554 | 0.4815 | 0.4633
1.8 D464 | 0.4649 04699 | 0.4 706
19 Q4T13] D.4719 |Ou 0.4762 | L4787
20 0.4T772| 04778 04212 | 04817
b | 0.4821] 0.4826 0.4854 | oLaEsY
21 0L4B61] 04864 BLERAT |0 4RsD
23 0AE93] 0489 8.4513 [ 04318
24 48| 0.4920 04334 | 04918
25 0.4938| 0.4540 1 0.4951 | 049537
24 0.4353] 0.495% | 0.4963 | 04964
1.1 0.49651 0.4966 0.4973 | 04974
18 QL4974 04978 0.4980 | 0.4931
1s 04581 | 04543 Q4985 | 04985
0 L4398 04987 | L4590 | L4930
i1 0.492¢| 0.4991 Qa3 | 04993
31 04933 0.4993 0La5a% § 04938
L 04595 | 0,4955 0493 | 04597
14 0.4997| ay997 04537 | 04558
s 0.4998| 0 4598 0.4538 | 04993
. 8 | 04393 0. 4998 CL4559% | 0499y
it 0.4993| 04999 04599 | 0495
Xt L4993 | 0.4999 QL4999 | 49
s 45008 05000 QL300 | 05000
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